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QUESTION 1

A company plans to build a resort that includes a hotel with 1610 rooms, a casino, and a convention center. The
company is interested in a mobility solution that provides scalability and a service-based approach, where they can rent
the 

WLAN infrastructure at the convention center to any customer (tenant) that hosts events at the resort. 

The solution should provide: 

Seamless roaming when users move from the hotel to the casino or the convention center 

Simultaneous propagation of the resort and customer-owned SSIDs at the convention center 

Null management access upon resort network infrastructure to the customers (tenants) 

Configuration and monitor rights of rented SSIDs to the customers (tenants) 

Which deployment meets the requirements? 

A. Deploy an MM-MC infrastructure with multizone AP\\'s, with one zone for tenant SSIDs. 

B. Deploy IAPs along with AirWave, and deploy role-based management access control. 

C. Deploy IAPs with zone based SSIDs and manage them with different central accounts. 

D. Deploy an MM-MC infrastructure, and create different hierarchy groups for MCs and APs. 

E. Deploy IAPs, and manage them with different central accounts. 

Correct Answer: E 

 

 

QUESTION 2

An Aruba Mobility Master (MM) - Mobility Controller (MC) solution is connected to a wired network that is ready to
prioritize DSCP marked traffic. A group of WMM-enabled clients sends traffic marked at L2 only. 

What must the network administrator do to map those markings to DSCP equivalent values when traffic is received by
the APs? 

A. Enable WMM in the SSID profile. 

B. Enable WMM in the VAP profile. 

C. Enable Skype4Business ALG Support. 

D. Enable traffic to be marked with session ACLs. 

Correct Answer: B 
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QUESTION 3

Refer to the exhibit. 

A network administrator has created AAA profile for the corporate VAP. In addition to the regular Radius based
authentication, the administrator needs to be able to disconnect the users from either of the two servers that are part of
the "Radius" server group. 

What must the administrator do next in order to achieve this goal? 

A. Use the "Radius" server group as the RADIUS Accounting Server Group in the AAA profile. 

B. Create two new RFC 3576 servers and assign them as the RFC 3576 servers in the AAA profile. 

Latest HPE6-A79 Dumps | HPE6-A79 PDF Dumps | HPE6-A79 Practice Test                                3 / 5

https://www.pass2lead.com/hpe6-a79.html
https://www.pass2lead.com/hpe6-a79.html
https://www.pass2lead.com/hpe6-a79.html


https://www.pass2lead.com/hpe6-a79.html
2024 Latest pass2lead HPE6-A79 PDF and VCE dumps Download

C. Use the "Radius" server group as both the Accounting Server Group and the RFC 3576 server in the AAA profile. 

D. Use the "Radius" server group as the RFC 3576 server in the AAA profile. 

Correct Answer: C 

Reference: https://www.arubanetworks.com/techdocs/ArubaOS_61/ArubaOS_61_UG/AP_Config.php 

 

QUESTION 4

A customer wants a WLAN solution that permits Aps to terminate WPA-2 encrypted traffic from different SSIDs to
different geographic locations where non-related IT departments will take care of enforcing security policies. A key
requirement is to minimize network congestion, overhead, and delay while providing data privacy from the client to the
security policy enforcement point. Therefore, the solution must use the shortest path from source to destination. 

Which Aruba feature best accommodates this scenario? 

A. Inter MC S2S IPsec tunnels 

B. RAPs 

C. Multizone Aps 

D. VIA 

E. Inter MC GRE tunnels 

Correct Answer: B 

 

QUESTION 5

Refer to the exhibit. 

A network engineer deploys two different DHCP pools in an Instant AP (IAP) cluster for WLANs that will have
connectivity to a remote site using Aruba IPSec. Based on the output shown in the exhibit, which IAP-VPN DHCP
modes are being used? 

A. distributed L3 and centralized L2 

B. local L3 and centralized L2 

C. local L3 and distributed L2 

D. centralized L3 and distributed L2 
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Correct Answer: D 
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